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4x—284+2=3x-24+1, 4x—26—-3x+23 =0, x—3 = 0°]c}.




® xxx=16

@2()6—!- 1)=x

@ 2(x+1)=2x+4

B

D3x2-x+1=0: AdxA

@ 2(x+1)#2x+4: AAQ
® x2 =16 : a4 o] of

] obd.
® H|A47t glonz dxpEbg o] ot




A&sh= Al 719 3 o si47t et 7HE 2 U ok = ol ¢
12 9 28 o, Al 5= F 7P 28 5 FL5todet

> =

> ®E: 15

A&t Al 7R 3 9 ¥l =5 x, x+3, x+6 °]=F 3P
x+x+3=x+6+12

2x+3=x+18

T x=15




20| A2 o] 547} 891 5 2pe] AeA47F Gk, o] AAd 7t A
SAko] o] 3 Wt 571 Atk o] A4S Fatolet,

Aol 28] =25 xal 5HH 9] ] =27 8o B2 o]
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4x -1
0.6x =
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15+ 12x = 16x— 4
4x =19
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g2 0.1x-1.6 = -0.2(0.1x-1) & & a, 2(x-2) : 5= (x—1)

0.1x— 1.6 = —0.2(0.1x - 1) « =] 10
x—16 = —2(0.1x - 1)
x—16=-0.2x+ 2
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3000(15 — x) + 1500x = 27000
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